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DEPARTMENTAL EXAMINATIONS

SURVEY DEPARTMENTAL TEST - DRAUGHTSMAN TEST - PAPER-II

(Without Books)

Maximum Time : 2.30 hours - Maximum Marks : 100

IMPORTANT INSTRUCTIONS

DESCRIPTIVE TYPE |
aflfleurar eflenL waflé@Ld cuens efarmggmer

Read the following instructions carefully before beginning to answer the questions.
cilenésa@ené e eflenLweflés Qam_ri@h apery Spasen _ iflemrsmer seuanoms Ulg SESQYLD.

1. Answers in excess of the prescribed number of questions appearing at the end of the answer
book will not be valued.

eflenL_aener GG (Herer sramenfiGamas@ ifsions erpHud e, eflenL_gamaflan GmHude o drer
2ifls cramallsmaliorar alleaLser LHLSH Qedwdiun_rg.

2. In case of doubt, English version is the final.

ellarmésefad s5CaamLdar g mfo aigeld Qar@asiun.(erar elamasGeor Amdwrensg.

A “4” Size Paper — 2 (Two) to be Enclosed.

A “4’ grer-2 (Qrew(R) QenemTssLILHID.

NB (1)

)

3

(4)

Answer ALL questions.
Siamangs) ellanssEsseEw el waf.

Candidates are allowed the option to answer the Paper either in English or
Tamil or even to answer the Paper partly in English and partly in Tamil. -
el waflsgn srefld cfleadr udon (Sdog) sOp (sdws) urd
< adlosdaid wpmib urd s PeIb eflenL SelbsaiD.

Marks will be deducted for bad handwriting.

Qgafleupp werpuier eaQuiwss @minder LHIQALT GapasiL@LD.

Chamber’s mathematical Tables and Traverse (Boileau) Books are only
allowed with Scientific Calculator.

Gswuiev (Chamber's) sexfly eumiliur® whHmbd Lgreiey wmiGw (Boileau)
LUsssSgILean semfluiume sigodsasiiu@i.]
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Plot the field measurement sketch enclosed with this in the given drawing sheet in
1:2000 mm using metric scale and put measurements with ladder. (gﬁ)

Qg e GeverrdsliulL YaluLsHlamen auphistiul L Qeudrener auenyed srafle SareyGohTe
glawent Clamawr(h 1:2000 8.8, eremp Siamefler auenpey Dauig oareser Ghlssan, gerflliiuig
ET(LPH@YLD. ;

Calculate area for subdivision 6. (2)
2 " 9fley 6-er LipliLy sanfléseaib.

Mark the following details in the sketch : 7 (4x2=8)
(a) Burial ground in subdivision 5

(b) Draw cart track from subdivision 1 to subdivision 3 through subdivision 2

() Bore well in subdivision 4

(d) Square well in subdivision 1

aueruLGHle Spaan . eflarsdlsman @hasab.

(o) 290 ey 5—éb wwremb '

(=) 2019Me) arar. 16 QmHa 2 aulluins o 119 ey erair. M@ Glaab euary.uTas.

(@) =209fe 4-6 i giners Henry

() 2 U dfley 1-6 sgyrédlenmy.

II.  Simplify the following using logarithm. (2x5=10)

2.

867 x 568 & 854
655.03 x411.20 198

4824 x7.65 x 140.2

arsdlsid (Logarithm) 2 LGWrélgs &h&Es.

867 x 568 854

655.03x411.20 198 ,
2, 4824 x7.65x140.2
III.  Explain: (5 x4 =20)
1. Traverse
2. 9(2) Notice
3. The Azimuth
4, The Zenith Distance-
5. Collabland.
cllend@a
1. 19 JTeU e
2. 9(2) & L1 1Qflay
3: 280
4. deaflggnmo
5. Qarem iGaeL.
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IV.  Calculate the Bearing and draw the angle plotting for following in the scale 1:1000 mm and

@ put measurements.: (20)
Station| Angle | Bearing Distance
: (in Metre)
A 202.25 94.37 16.2
B [130.38 : 32.4
# 155.20 20.5
D [11354 : 54.2
E 114.14 31.9
F 159.45 69.6
-G 106.06 29.1
H [126.25 _ 28.6
1 151.06 % | : -
Bearing sana&() Qeiig Angle plotting 1 : 1000 9.8, ierefléd aianya Qedweyd, =ieTeyseT
GD&&HeID.
Blenawid | Camemrid |  GCumiig SNTLD
(B fev)
A 202.25 94.37 16.2
B 130.38 32.4
C 155.20 20.5
D 113.54 54.2
E 114.14 31.9
F 159.45 69.6
G 106.06 29.1
H 126.25 28.6
1 151.06 35.1

V. In a Right angle triangle given : angle B = 90° and A = 48° 13’ side AC = 358, Find the base and
the height. ‘ (20)
QemiCaman p&Caramgdlad B Carend = 90° A Gsmerrd = 48° 13’ ussib AC = 358 wigl1LEsD LOMHMILD
2 Wb semHilig&seyLb.

C

48° 13’ [‘
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